

$$\boxed{8} \frac{\boxed{\phantom{0}}}{\boxed{\phantom{0}}} - \boxed{4} \frac{\boxed{7}}{\boxed{10}} =$$

$$\boxed{\phantom{0}} \frac{\boxed{\phantom{0}}}{\boxed{\phantom{0}}} \boxed{\phantom{0}} \boxed{\phantom{0}} \frac{\boxed{\phantom{0}}}{\boxed{\phantom{0}}} = \boxed{\phantom{0}} \frac{\boxed{\phantom{0}}}{\boxed{\phantom{0}}} \boxed{\phantom{0}} \boxed{\phantom{0}} \frac{\boxed{\phantom{0}}}{\boxed{\phantom{0}}} = \boxed{\phantom{0}} \frac{\boxed{\phantom{0}}}{\boxed{\phantom{0}}} = \boxed{\phantom{0}} \frac{\boxed{\phantom{0}}}{\boxed{\phantom{0}}} = \boxed{\phantom{0}} \frac{\boxed{\phantom{0}}}{\boxed{\phantom{0}}}$$

$$\boxed{5} \frac{\boxed{4}}{\boxed{9}} - \boxed{3} \frac{\boxed{2}}{\boxed{3}} =$$

$$\boxed{\phantom{0}} \frac{\boxed{\phantom{0}}}{\boxed{\phantom{0}}} \boxed{\phantom{0}} \boxed{\phantom{0}} \frac{\boxed{\phantom{0}}}{\boxed{\phantom{0}}} = \boxed{\phantom{0}} \frac{\boxed{\phantom{0}}}{\boxed{\phantom{0}}} \boxed{\phantom{0}} \boxed{\phantom{0}} \frac{\boxed{\phantom{0}}}{\boxed{\phantom{0}}} = \boxed{\phantom{0}} \frac{\boxed{\phantom{0}}}{\boxed{\phantom{0}}} = \boxed{\phantom{0}} \frac{\boxed{\phantom{0}}}{\boxed{\phantom{0}}} = \boxed{\phantom{0}} \frac{\boxed{\phantom{0}}}{\boxed{\phantom{0}}}$$

$187.6 - 49.51 =$

$78.92 - 45.307 =$